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INSTRUCTIONS TO CANDIDATES

You should have the following for thiy examination:
Amnswer-hooklet:
Drawing instrimments;
Lrawing papers.
This paper consisis of THREE sections! A, B and C,
Answer guestion I (compulsory) in secrion A and any TWE questions from section B and any TWQ
o guestlons from section C.
Muaximum marks fo eqch part of o question gre indicated.
All dimensions are in millimerers unless otherwise sigted.

Estimate amy dimensions that are not given.
Candidates should arswer the guestions in English.

This paper consists of 6 printed pages.

andidates should check the question paper to ascertain that all the
pages are printed as indicated and that no questions arc missing.
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SECTION A (Compulsory)
1 Figure 1 shows g cast iron block. Draw the following views in first angle projection.
{a) A sectional front elevation on cuthng plane X-X:2
(h) An end elevation in the direction of armow E;

() A plan:

- show hidden detarks
- melude six major dimensions.

{HI rrerks)
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SECTION B

Answer any TWO guestions from this section.
Cj iz} Constrct an intemnal tangent for two circles whose centres are 100 mm apan and have theic
radii 40 mm and 70 mm respectively.

{1 marks)
ih Figure 2 shows a triangle POR. Construct a square of same area as the triangle. (& muarks)
R
PG = %00
AR = T0O
BR = &N
p Q
Fig.2

(’_L: {2t

(7 marks)
(b Construct the locus of a pomt onca wheel imbally mcomtact with the ground, of radaes 200 mm
that rolls on a curved path of eadins 70 mm without slipping. Name the Iocus.

Construct an cllipse with major and minor axes 20 mm and 30 mm respectively.

{5 marks)
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SECTLION C
Answer TWO queesticns from. this section.

@' Fignre 4 shows orthographic views of a bearing bracket, Draw the brackel i isomietric progection with
coner X as the lowest point. {15 marks)
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_ ti;«r- {a) Skeich the following tools:
£l mibber mafier;
(§Th] body file;
(ili)  poprivet.
(15 marks}
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i Figure 5 shows a machine bracket. Draw it in isometric projection. (15 marks)
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